LIN & F B 2 5l 7R B2

RN B e S R EE ﬂ Yl -
LIN-01 GL-16
AR E
I B L e
LIN-01R B 5 B &5 A&
PP B+0.02 K11Lo.oz

L1

=
|

h+0.02

4-Sz2

% Shaft: hé6-h9

FmiiE BiEL 28R WHE Rt tmm)
AEEAER ANESEOE ANERE
2xLIN-01R 2xLIN-03R 2xLIN-00

LIN-01GL-10 LIN-03GL-10 LIN-00GL-10 ¢10 13 20 40 26 21 8 28 6 M5x12 ¢d43 46 36
LIN-01GL-12 LIN-03GL-12 LIN-00GL-12 ¢12 15 21 42 28 24 8 305 575 M5x12 $52 50 35
LIN-01GL-16 LIN-03GL-16 LIN-00GL-16 ¢16 19 25 50 385 325 9 36 7 M5x12 $43 60 89
LIN-01GL-20 LIN-03GL-20 LIN-00GL-20 20 21 27 54 41 35 11 40 7 Mé6x12 &52 70 106
LIN-01GL-25 LIN-03GL-25 LIN-00GL-25 25 26 38 76 515 41 12 54 11 M8x18 &7 100 136
LIN-01GL-30 LIN-03GL-30 LIN-00GL-30 ¢30 30 39 78 595 49 15 58 10 M8x18 7 110 154
LIN-01GL-40 LIN-03GL-40 LIN-00GL-40 ¢40 40 51 102 78 62 20 80 11 MI0x25 $87 140 180

mm h DW H G A B E S.,L S, Kl L

F=miE AEES LD NE R PR BT R PR ERER T BB
IRER [mm] [mm] [P=5MPa] [P=35Mpal] [g]
LIN-01GL-10 10 +0.030/+0.080 2600N 18200N 175
LIN-01GL-12 12 +0.030/+0.080 3360N 23520N 205
LIN-01GL-16 16 +0.030/+0.088 3456N 24192N 250
LIN-01GL-20 20 +0.030/+0.091 5400N 37800N 318
LIN-01GL-25 25 +0.030/+0.091 8400N 61300N 686
LIN-01GL-30 30 +0.040/+0.110 12240N 85680N 905
LIN-01GL-40 40 +0.040/4+0.115 19200N 134400N 2041

171 TRERIBEN A



